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Questions 1 to 10 cany 1 mark each. CQuestions 11 io 16 carry 2 marks sach,
Feor each question, four options are given. One of them is the comect answer,
Make your cheice (1, 2, 3 or 4). 5hads!.haovai(1 2, 30:4)0nmeOpheal
Angwer Sheet.

{20 marks)

9 Arrange the following fractions from the largest io the smallest,

2 What is the value of 126.5 + 100 x 10?

(1) 1265
@ 1285
(3) 1265
@ 1265

e
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All had $200. He spent $40 on a shit. What percentage of his

money did he spend on the shirt?
(1) 20%
(2) 40%
(3) 60%
4) 80%

Which one of the following is an equivalent ratio to 6 : 247

(1)
(2)
&)
)

4:1

1:4

539

1:%5

Shantl and Li Ming shared a packet of sweets in the ratio 5: 3. There
wers 160 sweets in the packet. How many sweets did Shanti receive?

(1)
(2)
(3)
“)

20

32

60

100

www.testpapersfree.com



At a parly, there were 30 aduliz and 15 children. 12 out of 30 adulis
were women. What was the ratio of the number of men {o the numbay

of women to the number of children?
(1) 4:6:5
2y 4:10:5
(3) 6:4:5
4 6:10:5

In & supermarket, apples are only sold in bags of 6. Each bag is sold
at $2. Xin Jie has $8. How many apples can she buy at most?

N 12
2 24
@ 27
4 54

The average mass of 3 girls is 58 kg and the average mass of 3 boys is
47 kg. What is the average mass of these 6 children?

() 17.5kg
() 35kg

(3) 525kg
@ 105kg

www.testpapersfree.com



10

Find the area of triangle ABC below.

A
13 em
Scm

C 12 em B
(1) 30 cm?
2 325’
(3) 60cm?
@) 78cm?

The solid figure below is made up of unit cubes.

How many more unit cubes need to be added to the 'solid figure to form
a big cube made of 84 unit cubes?

(1) 28
@ 36
@) 43
4) 48
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12

13

The lengih of each pigca of ribbon is 105 an.

of 200 pieces of such ribbone?

(1) 2i0cm
2) 2100cm
(3) 21000cm

) 210000 em

%atiaﬂ}eva!ueof—g— ” % 2

M =
@ 2
6
@ =
@ 2

Wit is fhe toal fngth

Mr Abdul bought 2 identical fans. The usual price of each fan was
$120. He was given a 10% discount for each fan. How much did he

pay for the 2 fans after the discount?

(1) $108
(2 $102
(3) %218

4) %240

L&)
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14  In the figure below, ACE and BCD are straight lines. AC =BC,
ZABC = 62° and ZDEC = 38°. Find ZCDE.

A

() 56°

2 62°
(3) 86°
@ 18
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15

In the figurs below, PORS is a paralclogram. SP = = a0
and ZSRP =50° Find LTPR. FhpdERR=T0

(1)
2
L)
@)

=
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Name: { ) Class:Pr5( )
PAPER 1 (BOOKLET B)
Questions 18 to 20 carry 1 mark each. Write your answers in the spaces

provided. For questions which require units, give your answers in the units
stated.

(5 marks)

18 Findthevalleof 8+ (20 +46)+5x 2,

17 What is 24% of 5007

. 18 Find the missing number in the box below.

36 = 12:9

Ans:
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® Express 14 kg 25 gin kg

20  In the figure below, ABC is a riangle. Find ZACB.
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Questions 21 to 30 cany 2 marks each. Show your working clearly in the
space provided for each question and write your answers in the spaces
provided. For questions which require units, give your answers in the units
stated.

(20 marks)

21  Inthefigure below, Za= 4£b. Find £a.

Ans: .

22  Arun started saving to buy a bicycle. Each day, he saved $2.50 less
than the day before. At the end of the fourth day, he saved a total of
$85. How much money did he save on the fourth day?

Ans: $

10
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23 Thems@nfﬁdmmswﬁ,%?m%swm. Whet is

he averags cost of the 3 dresses?

Ans: $

24 The average height of Allsen, May and June is 125 cm. The average
height of Alleen and May is 123 cm. Each statement below is either
tiie, falee or not possible to tell from the information given. For each
statement, put 2 tick { V) in the comesct column.

Statement True False Nof possible o
fell

June's height is 128 cm,

June s the tallest gir,
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In the figure below, ABCD is a frapezium., AB is parallel fo DC and
ZBCD=77° Find ZABC.

Ans:. 9

In the figure helow, AGB, CGD amnd EGF are straight lines.
ZAGD = 120° and ZFGB = 95°. Find ZCGE.

12
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27 In the figure below, BCE i3 & straight line and AB = BC. ZCED s g
right angle, ZACD = 88° and ZCDE =55°. Find ZARC.

28 In the figurs below, PQRS is & rhombus. PUR and QUT ase straight
iines. ZTUR = 95°and ZTPU = 50°. Find ZPQU-

13
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Two different shops offer the following discounts for the same printer.
Daniel wants to buy the printer at a lower price.

(a) Which shop should he buy the printer from, Shop A or Shop B?

(b) How much would he pay for the printer from that shop?

Shop A
Usual price $240 ) Usual price $220

Discount 25% ' Discount 10%

Ans: (a) Shop

(b)$
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30

Alisha worked &t 2 c=f& for 7 hours sxciy day from Mondey to Friday and
worked for 5 hours on Safurday. She dig not work on Sunday. She
was paid the same amount of money for each howr that she worked
from Menday io Friday. She was paid $1 more for each hour that she
worked on Saturday than on Monday. She received a weekly pay of
$285. How much was she paid for each hour on Monday?

Ans: $

END OF PAPER

e
(a7
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PAPER 2

Questions 4 to 8 carnry 2 marks each. Show your working clearly in the space
provided for each question and wiite your answers in the spaces provided,
For questions which require units, give your answers i the uniis stated,

- {10 marks)

1 Nazri had 180 stamps. %oft’hennweaefrmnhﬁa}ayaia,%ofmem

were frora Japan and the rest wers from Singapors. How many
stamps from Singapore did ha hava?

2 The price of a telovision before GST was $2320. What vias the prics
of the television afier adding 7% GST?

Ans: §
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3 The ratio of the length of a rectangle to its breadthis 7: 5. The breadth

of the rectangle is 16 cm shorter than its length. Find the length of the
rectangle.

Ans: cm

4 At a supermarket, grapes were sold at $0.80 per 100 g. Jane bought
1.8 kg of grapes. How much did she pay?

Ans: $
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5 The average of three numbers is 90. Two of the numbers are 75 and
80. What is the third number?

www.testpapersfree.com



For questions 8 to 17, show your working cléarly in the space provided for
each question and write your answers in the spaces provided.
The number of marke available is shown in brackets [ ] at the end of each

guestion or part-question.
(45 marks)

6 in the figure below, KLMN is a rectangle. 24% of the area of rectangie
KLMN is shaded. Find the area of the unshaded part.

K 45 em

Ans: [3]

www.testpapersfree.com



in the figurs below, ABCD ig rectangle. AFC and BFE are sfraight
lines. The area of triangle CEF is 130 cm®.  The length of EC is half
the length of DE.  What is the total area of the shaded paris?

78 cm
A< > B
Fiis

40 em

130 om?

Ans: i3]
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8 In the figure below, ABC is an equilateral triangle. ADC is a
right-angled triangle and ZDCE = 20°. Find ZBEC.

A

Ans: [3]
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In the figure below, ABC and BCD aro isosceles tiangles. AB is parails]
to CD, AB = BC = BD and £ZABC = 15°.

{8 Find ZBAC.
{b) Find £CBD.
A _ B
V/(\
o ” 5]
Ans: (a) [1]

®) 121
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10

A rectangular tank is shown below.

45 cm

25 cm

80 cm

At first, the tank was emptly. The tap was tumed on and water from the
tap flowed at a rate of 2.5 litres per minute into the tank. How long did

it take for the tap to fill % of the fank with water? Give your answer In
minutes.

Ans: i3]
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1

At first, Nafacha had some stickers. Shemzn%ﬁwmkersm

R@&ﬁzﬁfﬁwmﬁmhhﬁm After that, Natasha

bought 77 sticksrs and had a fotal of 233 sﬂckersmﬂwaml How
many stickers did Natasha have at first?

Ans: i4)
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Lucas and Dinesh had some marbles. The ratin of the nhumber of
marbles Lucas had to the number of marbles Dinesh had was 5 : 3 at
first. After Lucas gave half of his marbles to Dinesh, Dinesh then had
36 marbles more than Lucas. How many marbles did they have

altogether?

Ans: [4]

10 o
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The average {est score of 8 group of students was 72 marks. After
mr&asmdmtswhomedanmmofasmmmmam,ma
average score of the remaining students became 68 marks. Howr
manys:udenlsmmﬁmeinﬂsagmupatm .

Ang:

[4]

%1
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In the figure below, JKL is an isosceles tiianglewith KL=JL. JLMNisa
paralielogram. KLM is a straight line, ZKLP = 148% and ZJNM = 75°.

(a) Find ZKJL.

{b) Find ZJLP.

Ans: (a) 2]
(b) [2]

12
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18

Figure 1

The figures below are made up of identical unit squares. The length of
@ach unit square is 3 em.

{8) Whatls the perimeter of Figure 37
(b) How many unil squares are there inFigure 207

{c) Which figure has 397 unit squares?

3em
P
3cm
i L
3em
G
Figure 2 ‘ Figure3 - Figure 4
Ans: (a) [11
(b) 2]
(c) Figure 2]
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(a)

(b)

Mr Chan drove to a shopping mall last Saturday.

The table below shows the parking charges at the carpark in the
shopping mall.

$2.00 per hour from 8a.m. to 7 p.m.
Monday to Sunday or part thereof
$3.00 per hour after 7 p.m. or part thereof

Mr Chan drove into the carpark at 3.30 p.m. and drove out
of the carpark at 7.10 p.m. on that day. How much did

he pay for the parking charges?

Mr Chan made his way to a sports shop after he parked his car. A
$10 voucher was given for every $180 spent in the sports shop.
He paid the same price for each pair of shoes for each of his 3
children. He realised that he would have 1o spend at least $8 more
to be able to exchange for $30 worth of vouchers in total. How
much did he pay for each pair of shoes?

Ans: (a) {2)
(b) {3

14
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17

Mre Chew had some rad, bius and green buitons. She used % of the

red buttons for a dress and . of the remaining red buttons for 3 blouse,
She then had 350 butions left altogether. g-ofﬂ'reredbuﬂonsleﬁwas

squalio -} of the biue buttons. The ratio of the pumber of red buttons

left to the number of green buttons was 10 :8. How many red butions
did she have = first?

Ans: (4}

END OF PAPER

15
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PAPER 1 BOOKLET B

Q16) 38

Q17) 120

[Q18) 27

Q19) 14.025

Q20) 55

Q21) 360-100-62 —44 = 154
194 +2 =77

Q22) $2.50x6 =815
$95 - $15 =880
$80 + 4 = $20

Q23) $105 + $87 + $99 =$291
$291 - 3= $97

Q24) 125x3 =375
123 x 2 = 246
375 ~246 =129

Q25). 180° - 77° =103°

Q26) 120°+95° =215°
215° - 180° = 35°

Q27) 180° - 50°— 90° = 35°
180° - 88° — 35° = 57°
180°- 57°- 57°= 66°

Q28) 180° - 50°- 95°= 35°

Q29) Shop A : 25/100 x $240 = $60

Pg1
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$240 - $60 = $180
Shop B : 10/100 x $220 = $22
$220 - $22 = $$198
(a) Shop A
(b) $180

Q30)

7x5=35
$1x5=85

'$285 - $5 = $280

35 + 5 = 40( No. of hours weekly)

$280 + 40 = $§7

PAPER 2

Q1)

180 x ¥4 =45
180 x 1/6 = 30
180 — 45 - 30 =105

Q2)

$2320 x 7% = $162.40
$2320 + $162.40 = $2482.40

Q3)

2u—> 16
iu—=>8
7u = 8 x7 =56cm

Q4)

1.6kg = 1600g
1600 + 100 = 16(No. of sets bought)
$0.80 x 16 = $12.80

Q5)

90 x 3=270

270-75-80=11

Q6)

45-%-30 =1350 (Area of KLMN)
24% x 1350 = 324 (Shaded Area)
1350 -324 = 1026 cm®

an

78 + 3 =26 (EC)

26 x 2 = 52 (DE)

130 + 26 + ¥% = 10 (Ht of triangle FEC)

40 — 10 = 30 (Ht of triangle AFB)

Area of ADE = % x 40 cm x 52 cm = 1040 cm?

Area of ABF = % x 78 cm x 30 cm = 1170 cm?

Area of ABCD - 78 cm x 40 cm = 3120 cm?

Area of shaded parts > (3120 — 1040 — 1170) cm? = 910 cm’?
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Q8)

180° - 20° — 90" = 70° (Angle DEC)
180° — 70° = 110° (Angle BEC)

Q9)

(2) 180" - 15° = 165%0 (Angle BAC + Angle ACB)
165° = 2 = 82.5° (Angle BAC)

(b) Angle BCD = 15° (Alternate Angle)
180° — 15° — 15° = 150° (Angle CBD)

Q10)

45+2=225
80 x 25 x 22.5 = 45000
45000 cm® =45 L
45+25=1g

Q1)

288 =2 = 144
(At first) 3U = 144 — 18 + 60 = 186
1U > 186 +3 =62

288 - 122 = 166

Q12)

L : D: Total
5 3z 8
=10 : 6: 16

10 = 2 =5 (what L gave to D)
6 + 5 = 11 (what D has now)
10 = 5 = 5 (what L has now)
11— 5 = 6 (Difference)
6 Units - 36
1Unit>36+6=6
16 Units = 6 x 16 = 96

Q13)

85x 3 =255
72-69=3
72x3=216
255-216 =39
39+3=13
13+3=16

Q14)

(a) 360° - 148° - 107° = 1057
180° — 105° = 75°
75° + 2 = 37.5°

(b) 180° — 148° = 32°
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h\ﬁn\\mu)

S '\'"\"\’n'\ B

75° + 32° = 107"

Q15)

(a)3x20 =860
(b) 20—1 =19

19x4=76
76+1=77

(c) 397 — 1 =396

396 +4 =99
99 +1 =100

Q16)

() $2 +$2 + $2 + $2 + $3 = $11
(b) $180 x 3 = $540

$540 - $6 = $534

$534 + 3 =$178

Q17)

1-1/5=4/5

4/5 x 1/6 = 2115
4/5 - 2/15 = 2/3 (R left)
2/50f R=%o0of B
2/50f R=2/8 of B

R: B R:G
5:8 10: 9
10: 16

35 Units =350
1 Unit 2 350+ 35 =10

10 Units = 10 x 10 = 100 (R left)

. 2/30ofR=> 100

1/30fR = 100 =2 =50
3/30fR > 50 x 3 = 150
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